GSE Algebra 1 				 			Name:______________________________
Notes Day 1: Factoring Out the GCF				Date: __________Period:_____________

Greatest Common Factor: (__________ ) The largest number that divides exactly into two or more numbers/ expressions. 
Example 1) Find the GCF for 24, 36, and 48 



[bookmark: _GoBack]Example 2) Find the GCF for  and  


Example 3) Find the GCF for  


Try it: Find the GCF
1. 



 and  				2.  and  


Factoring out the GCF:
Perhaps, the process of factoring by removing the greatest common factor can be best stated as 
the reverse                                                                           .  In the distributive property, one is
                        __________________  a certain factor to all of the terms.  In factoring by using the GCF, 
one is __________________________  all of the terms by the GCF and working backwards to express a 
polynomial as the product of a monomial factor and a polynomial factor.

Example 4) Consider this expression which utilizes the distributive property: . Visually, this is the distributive property: 
[image: http://2012books.lardbucket.org/books/beginning-algebra/section_08/d3bb6e598c7113066ff0c4d25e298599.jpg]       


Example 5) Factor out the GCF of the expression:  




 

Example 6) Factor the greatest common factor:  .



You Try: Factor the following by using the GCF 
	1. 








	2. 


	3. 








	4. 




Example 7) Factor the greatest common factor:  .
Note that the GCF of the coefficients (28, -36, and -17) is 1.  Also, note that the terms do not all share any common variables.  

When one is only factoring out the greatest common factor, and the GCF is 1, 
he/she should write that the expression is                                   .

oleObject2.bin

image3.wmf
4522353

2,8,16

xyzxyzxyz


oleObject3.bin

image4.wmf
6

20

x


oleObject4.bin

image5.wmf
3

15

x


oleObject5.bin

image6.wmf
23

50

xy


oleObject6.bin

image7.wmf
5

25

xy


oleObject7.bin

image8.wmf
5(42)

xx

--


oleObject8.bin

image9.jpeg
L™
~5x(4x-2)
= (=5x)-4x +(-5x)-(-2)
= -20x + 10x




image10.wmf
2

2718

yy

+


oleObject9.bin

image11.wmf
873

142430

zzz

+-


oleObject10.bin

image12.wmf
352

42416

zzz

+-


oleObject11.bin

image13.wmf
73

166

cc

-


oleObject12.bin

image14.wmf
54

2545

dd

+


oleObject13.bin

image15.wmf
43

9126

kkk

+-


oleObject14.bin

image16.wmf
3225

283617

abab

--


oleObject15.bin

image1.wmf
2

12

xy


oleObject1.bin

image2.wmf
2

8

xy


